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The figures in the margin indicate full marks
Jor the questions.

Part A (3 -5)

Q. No. 1 (a-f) carries 1 mark each 1x6 = 6
Q. No. 2-7 carries 2 marks each 2x6 =12
Q. No. 8-12 carries 4 marks each 4x5 =20
Q. No. 13 & 14 carries 6 marks euach C6x2=12

' Total =50

Part B (4 -=iod)

Q. No. 15 (a~f) carries 1 mark each ' 1x6= 6
Q. No. 16-21 carries 2 marks each . 2x6 =12
Q. No. 22-26 carries 4 marks each '4><5 =20
Q. No. 27 & 28 carries' 6 marks each 6x2 =12

Total =50

Total (Part A & B): 50+ 50 =100
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PART-A /3 -*I 1 wete MAIEER (@ @St i Wfewsacm o[ q=m ¢
() SRS IeAlE o (RfSET 2hTa New sovhie T@T i
(i) CIS T &

( Contemporary World Politics)

( TP o qreife ) A L
(ili) NG OF JIZS FIOR SIPARTOR 2o
1. Answer the following as directed : 1x6=¢ (iv) 5 2A6TS FRIG |
oS iR o SEaR Yed @ 2. Write two differences between migrants and refugees. 2
(@ Write the full form of NIEO. | GRS SR >N e 757 #idy 2|
NIEO ¥ 7 ic{q:'o@i fersir 3. In which year the World Bank was created ? Mention any one
(b) What do you mean by Unipolar World ? activity of World Bank 1+1=2
aFee e e gfercer e 2 ' P @ (@ oS ZoW (2fe 2 TR e Gbr R S 79 |
(c) ‘Rlo summit approved a developmental prograr.nme n'.:unet? as 4. When and where was the first NAM summit held 2 1%j=0
Agenda-21°. (Write ‘yes’ or ‘no)
S (D) o SewisE A @R O e Sve e 2

R SR Prepl-3s” A @ SAIEE TP S SnigE |

(J @ 7@ feRy) 5. In which year was Kyoto Protocol signed ? The Protocol dealt with

which problem of the. environment ? lgi=0
R0’ pfe (P oS FrRie R ¢ @3 B SifReer @R TR Gire wive

/ (d) In which year did India start its economic reform ?
|

o~ 9
SIS 3 St FEIE (TR 5o SIE  HiRe ? ol ¢

(¢) There are number of permanent members in the 6. What are the two military alliances signed by the USA and Soviet

Security Council of UNO. (Fill in the blank Union with their respective friendly countries during Cold War ?

AR Frora sfere %I FeT S| 1a]=5
(2T 2 7f3el 3:) st Yo IS S JEAG W= (b Tofae (osE 95 e
IS SE (@R ANRS i v & 2

(  Which among the following is NOT an outcome of the

disintegration of Soviet Union ? 7. Mention two major areas of influence of European Union. p)
(i) End of the ideological war between USA and Soviet Uniop TEANY S AR 707 447 (Fq SR 4 |
(i) Birth of CIS : ;. 8. What is common but differentiated responsibility ? Discuss briefly.
(i) Change in the balance of power in the world order , i
(iv) Crisis in the Middle East _ LIRS TG LRI W] A 2 5N e 49 |
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9. Why did big powers need to have alliance with smaller countries PART-B/4- 2

Write four reasons.

mﬁféﬁwﬂ@mwmﬁmm MWD/WM%W

( Politics in India since Independence)

| ( Fqeq ©ived e )
10. Discuss briefly about restructuring and the futuré of the Unite '
Nations Organisation. 4' 15. Answer the following as directed : 1x6=6
NG 7[0S S SRR FACE T SCoA FA| weTe iR ot SRt Tes ot :
. Discuss briefly about the recent relationship between India and (a) Panchsheel principle was jointly declared by Indian Prime
Pakistan. : 4 Minister _____ and Chihese Premier Zhou Enlai.
o | _ Fill in the blank)
RS W% AR WE RS TR ﬁm IG5 | | (
| y AT TS Sl dgigl % B AT (B« I ForreiE
. What is the relationship between human security and health ? CarFel FiRMRe | (T 3T 279 )

Discuss. , ‘ 4 © (b)

In which year era of coalition government started in centre ?
WA aofel S JER TR T4 & 2 S 1t

R TR Rl (TS To! 59T Pl WIS O 2

. What is ASEAN ? Discuss the three pillars of ASEAN. 1+5=€, (c) In which state Navnirman movement took. place ?
WA (ASEAN) & ? Sifea S8 oo Rac sicwat 3t | o (I TS WA Sewiiem FREHS (e 2
OR /%41 - - ' if (d) In the first Generél.Election- of 19_52, electipn was hel
Discuss the role and limitations of SAARC as a forum of regional | s1m.ultaf1eously for Lok Sabha and'.__.. (-Premdent/ State
. 4 2=‘ Leg;slatlve Assembly/Rajya Sabha/Prime Minister)
cooperation. ) . 6'7; (Choose the correct one)
SRR Ao sgd 5l B¢ (SAARC) T g @R TS 5" =G "55“;' 35 5 AT AR 5T TS IO S (q1Beif)
) | Fifers R wa/wa/elzm@ﬁaww%@ o |
14. Why did Soviet Union disintegrate ? Discuss elaborately. 6, (o= R M)
' Write one feature of NeW Economic Policy of India.
R S R ool L ? WWWI » (e) | ,
OR/@3 | | | OReT T TCAST Tfew by TR v
Discuss US hegemony as hard power. Do you think that US' (f) At present which institution has replaced Planning Commision
" in India?
hegemony is good for the World ? Give justification. 4+2=¢ n , . |
good tor Z <.
meqmmﬁaﬂgm@wﬁ%mwwmmﬁawwﬁm a“?“"‘? IO ORSIAS ARTE AR TR PG!S =i corem
R S o 3t e 7 IRETEe! | == | :
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9% o A R

oy e wiicalel (et 5167 3 (e ?Wamﬂaﬁwﬁﬁsﬁiw__..

Togewer a1 - !

movement ?

mﬁewﬁ?ﬁmmmmm?

state created under this Act. 1+l-2“

WWWWWMWZ%?QWWW%E@@WE

Write two causes of the emergence of communalism in India. 2“

SRS AremEroRME TER 75 FRY B

J[
J?J
Write two reasons respon31b1e for growing importance of reglonalﬁ
political parties in.Indian Politics. 2 Jf

|

W@aaﬁ%@mﬁﬁmmmﬁ% 7! PR forait |
T

When was Election Commission in Indla formed ? Who was the ;‘I
first Chief Election Commissioner of India ? 1+1=2 |r

i Siifes ¢
Discuss briefly the result of Green Revolﬁtion in India. 4
OROS (UG [eke TENTTIIR bALE AT 1 |

|f|'

Do you think that anti-arrack movement is a women movement ? |
.|
Justify your answer. 4

Wwﬁw%mmmﬁmmqﬁgﬁm fF 2 c@mw

I

e

)
.
ki

o

|

l

D1scuss briefly about the 1n1t1at1ves taken by Janata Government ;
4

WW@!Q@{WWWWWW'

!

l

: |

(6] 5
!

!

SES.

25. What were the consequence of fourth General Election of 1967 ?
Discuss briefly. 4

Yova R g AR e etz & wifee ¢ sis seens 3 |

26. Mention any four regional political parties of India. . 4
OS] AT 51/75! TS A@AfoT v [ Smd T4 |
27. How far planning is relevant in the era of globalisation ? Discuss.
. 6
R oo SR Rew o APRES @ S 3
OR /&)
Discuss the main controversies around planned development in
early years of India’s independence. 3+3=6
Wﬁ%ﬁ@ﬁ@ﬁﬁﬂﬁzﬁﬁswmw (2RI o KSR S
Eatl
28. Discuss the regional movements of North East India. What are the
reasons of these movements in .this area ? 4+2=6
'W-ﬁWW@WWWWlﬁW&W T ST &
QR P 7 & 2
OR /&34 ,
Discuss elaborately about the Kashmir problem.
Fpfia TR FToIE RReIt SeTonl <1 |
X
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